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Pattern for LEFT side of the Necklace: 
 

 1) R: 20.     2) R: 20. 

*3) SR: 10/10.      
       repeat from * 16 more times (17 total),  

       this will bring you to position 20.                

20) SR: 10/10. 

21)   R: 10 - 5.RW                                           

22) CH: 12.RW 

23)   R:  5 + (to R21) 10 - 5.RW                      

24) CH: 12.RW 

25)   R:  5 + (to R23) 10 - 5.RW                      

26) CH: 12.RW 

27)   R:  5 + (to R25) 10 - 5.       

28) R: 5 + (to R27) 10 - 5.RW             

29) CH: 12.RW 

30)   R:  5 + (to R28) 10 - 5.RW                      

31) CH: 12.RW 

32)   R:  5 + (to R30) 10 - 5.RW                      

33) CH: 12.RW 

34)   R:  5 + (to R32) 10 - 5.       

35) R: 5 + (to R34) 10 - 5.         

36) R: 5 + (to R35) 10 - 5.RW      

37) CH: 12.RW 

38)   R:  5 + (to R36) 10 - 5.RW                      

39) CH: 12.RW 

40)   R:  5 + (to R36) 10 - 5.RW                      

41) CH: 12.RW 

42)   R:  5 + (to R32) 10 - 5.        

43) R:  5 + (to R34) 10 - 5.                 

44) SR: 5 + (to R43) 5 / 5 - 5. 

45)  R:  5 + (to SR44) 10 - 5.     

46) R:  5 + (to R45) 10 - 5. RW            

47) CH: 12.RW 
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48)  R:  5 + (to R46) 10 - 5.RW                     

49) CH: 12.RW 

50)  R:  5 + (to R48) 10 - 5.RW                      

51) CH: 12.RW 

52)  R:  5 + (to R50) 10 - 5.RW                     

53) CH: 12.RW 

54)  R:  5 + (to R52) 10 - 5.         

55) R: 5 + (to R54) 20 - 5.RW  

56) CH: 15.RW  

57)  R: 15 + (to R55) 10 - 5.        

58) R: 5 + (to R57) 5 - 15.RW, SS  

 

 

59) FR: 15 - 15.SS 

 

60) CH: 20.RW 

61)  R:  15 + (to R58) 10 - 5.     

62)  R:  5 + (to R61) 20 - 5. 

63) SR: 5 + (to R62) 10 - 5 / 15 - 5.          

64) SR: 5 / 5. 

65) FR: 10 + (to SR63) 10.SS 

66)  R:  10 + (to SR63) 25 - 5.     

67)  R:  5 + (to R66) 30 - 5.RW 

68) CH: 5.RW                             

69)   R:  5 + (to R67) 5.RW                   

70) CH: 15.RW 



 3 

Pattern for the CENTRAL part of the Necklace: 
 

Use ONE shuttle for rings 1 - 5 
 

 1) R: 15 + (to R67) - 10 - 10.  

 2) R: 10  + (to R1) 10 3 3 10 - 10. 

 3) R: 10  + (to R2) 10 3 3 3 3 10 - 10. 

 4) R: 10  + (to R3) 10 3 3 10 - 10. 
  

 5) R: 10 + (to R4) - 10 - 15. 

 

Use SECOND shuttle for rings A - D 
 

A) R: 10 + (on top of R1 and R2 join) 10. 

B) R: 10 + (on top of R2 and R3 join) 10. 

C) R: 10 + (on top of R3 and R4 join) 10. 

D) R: 10 + (on top of R4 and R2 join) 10. 

 

 

 

 

 
Central part of the Necklace 

(Rings 1 - 5, and A - D) 

 

 

 

 

 

Make Right side of the necklace  

symmetrical to the center. 
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Pay attention!  
You have to mirror every ring, every chain, and match placement of 

joins. Below you see part or the mirrored pattern forming kind of a 

‘pendant’, I’ve added letters to the corresponding numbers of the Left 

side of the Necklace to make it visual. 
 

Partial pattern for the RIGHT side of the Necklace: 
 

70a) CH: 15.RW 

69a)    R:  5 + (to R5) 5.  

68a) CH: 5.RW  

67a)    R:  5 + (to R5) 30 - 5.  

66a)    R:  5 + (to R67a) 25 - 5.RW, SS  

65a) FR: 10 -  10.   

64a) SR: 5 / 5. 

63a) SR: 5  + (to FR65a) 15 / 5 + (to R66a) 10 - 5. RW  

62a)   R:  5 + (to SR63a) 20 - 5.  

61a)   R:  5 + (to R62a) 10 - 15.RW 

60a) CH: 20.SS 

59a) FR: 15 + (to FR59) 15.SS    

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


